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ENGLISH VERSION

Instructions :

(1) The paper contains five question. Attempt all of them.
(2) Give answer of all questions on basis of internal options.
(3) The right side figures indicate marks.

Explain critically Descant's method of Doubt.
OR

Explain Spinoza's concept of God.

Explain the characteristic of monads according to Leibnitz.
OR
Explain the pre-establish harmony.

Explain the simple and complex ideas of Lock.
OR

Explain Hume's Skepticism.

How Kent reconciles Rationalism with Empiricism?
OR

Explain Kent's Copernican revolution.

Write short notes : (any two)

(1) Refutation of innate idea according to Lock

(2) Hume's criticism of causation

(3) Explain the concept of Attribute of Spinoza

(4) 'Cogito ergo sum' explain this statement of Desecrates.
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